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2006
MANAGEMENT

Paper 1

Time : 3 Hours | | Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in English and in Kannada.

Answers must be wrilien in the medium specified (English or
Kannada) in the Admission Ticket issued to you, which must
be stated clearly on the cover of the answer book in the space
provided for this purpose. No eredit will be given for the
answers written in a medium other than that specified in the
Admission Ticket. In case of any doubt in the Kannada text,

please refer to English text.

This poper has four parts :

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotted to each question are indicated in each part.

All questions in Parl A, Part B and Part C are compulsory.
Answer any three questions in Part D.
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PART A dx5=2()
Answer each guestion in about 50 werds. Each question carries 5§ marks.
1. (a) What is the “Mission” of an organisation ?
(b} Explain the concept of “Theory X' and “Theory Y’
(¢} What 1s ‘Elasticity of demand’ ?

(d) State the fields of application of slatistical analysis.
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PART B 10x10=100

Answer each question in about 100 words. Each question carries 10 marks.
2. Iixplain the key bases of deparimentation.
3. What is ‘Organisational control’ ? Explain the need for control.

4. Give a set of guidelines to promote job satisfaction among the employees
of an organisation.

5. Desecribe Necd Hierarchy theories of motivation.

6. llow is market competition classified for cconomic analysis ? Explain.
7. What are the important issues in Indian Public Sector pricing ?

8. Explain the utility of “Time series analysis’.

9. What is ‘Delegation’ ? Explain the principles of delegation.

10. Hlustrate the use of linear programming in business and industry.

11. What is ‘Charismatic leadership’ ? Explain the key characteristics of
charismatic leaders.
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PART C bx15=90

Answer each question in aboul 150 words. Each question carries
15 marks.

What is ‘Decision making’ ? How are decisions made ?

. What i1s ‘Organisational change’ ? List and explain organisational barriers
x : B

to change.

There are many factors that determine cost behaviour. In different firms,
there are different factors that affect costs. Aftemptl to arrive al some
general determinants of costs.

Fit a straight-line trend by the method of least squares to the following

data. Determine the profit for the year 2005.

Year 1997 | 1998 | 1999 | 2000 | 2001 | 2002 | 2003 | 2004

Profit (Rs. lakhs) | 38 40 65 72 69 60 87 95

Synchronizing and unifying the actions of people is coordination. Examine
the principles of coordination.

There are @ number of inter-personal and intra-persconal barriers that
help to explain why the message that is decoded by a receiver is ollen
different from that which the sender intended. Review some of the more

promincnt barriers to effective communication.
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n C 6x15=90

oy

7 3odeomd VITTR 150 TR eomodoelesd. @8 @i 15 eoFn 0.

“REIE O %ﬁmej:é@ab“ 2codedd ? EoRNYR; Ben SRETT ?

"@0;’36’ poeRsE ocndem ? NON afa*“o&@ WISOITENYN woE vaENYY,
BTG Ty HTOL.

33 S¥rdonay, VerdumE oded woonvd. el ed Seod LI ENYY
Sr3or 500 TODOTD WevNE woBTIE: 25T e DeACIRNTHTS. FOTp FoWR,
St AIETINYRY, 392,

PENT wogosndn E0F WNENY QFosug wold ROYStwe T dundy
Tadd, 2005 © mOS Ua..,ia:f?ot wraclog,

_:f,aE 1997 | 1998 | 1999 | 2000 | 2001 | 2002 | 2003 | 2004 ‘
Wty (07, Ua. n*g@) 38 | 40 | 65 | 72 | 69 | 60 | 87 | 95
LET Bobned, TocletZIipnd ¥ LEIORRET FTIOL IYNE
UImaes ? LTb

L0000 ROBETTE, ADET LVEeBAl BFE,08 VISR ALEDATITL vIE,

DRL eFE SekiIeox D2 odpd RFEencigd oonady,  Awbdmen

FEIOHFTTI ST woTU FI TR BF oPNEY BEERneS. Lo WEgE
HODTTE, LE SEERE LHME OINHE DOLLTIY, TDBEOR.

[Turn over



301 (8}

PART D 3x30=90

Answer any three of the following questions, each in about 300 words.
Each question carries 30 marks.

18. What is ‘Conflict’ and ‘Conflict management’ ? ILlucidate econflict

management technigques,

19. Globalisation has completely transformed the way Indian businesses used
1o operate. What should be the strategies to overcome some of the
challenges of globalisation into opportunities 7 — Elucidale.

20. “People who know their emotions and are good at reading other’s
emotions may be more effective in their jobs. This leads to emotional
intelligence.,” — What is ‘Emotional intelligence’ and what are its key
components ?

21, What 1s ‘Decision making under uncertainty’ ? What are the decision
criteria used for decision making under uncertainty ? Illusirate.

22, Examine the structure of Management Information System.
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